Algebra 2 2019 Semester 1 Final Exam Study Guide

Topic 1

Use the function below to find the f(6) term
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Use the recursive formulas below to write the sequences
and find the 6 term
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Jamal is planning the seating for the new auditorium. He
drew 15 seats for the first row, and is planning on each
following row to have 3 more seats. Write a function that
can be used to solve for the number of seats Jamal will
have in the n'" row,

Write a recursive rule that would show how many seats
would be in the n*" row.
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How many seats are in row 10?7
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How many seats are there in the first 10 rows?
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Jenny is collecting leaves for her science project. She
collects 2 leaves on the first day, and plans on tripling
that number on day two. If she continues that pattern,
how many leaves will she collect on day 8?

How many leaves would she have collected total on day
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Write a recursive rule for this pattern
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Write the general function for the pattern
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Given the first 5 terms of the sequence, write the
function rule
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Given the first 5 terms of the sequence, write the
recursive rule
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To |c2 Inverses

8) What kind of ﬁ;mtmn is the inverse of an axpﬂneﬁtlal function?
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b) Write the domai g;m range of both an axpmamial function and its inverse,
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< Write the equation of the inverse of the following funclions:
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Find the error.

Alyssa says that the inverse of b= 5. 2
is Bb+2= t because you switch the
variables and do the opposite math,
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Topic 3
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1) Identify whether the a and k values are positive or negative for the following graphs.
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4) Descnbe the transformahonsﬁto the functlon f( )to get g{x)= 2f(x+5)-7

)= - 3f(x-6)-4

P bled waornyi Lo~ 'WLS‘(Z,.,! O ZTPA A

M AL

6) What‘happens toAthe func’non f6< aZx—

7) What do the a, h, and k values do to the function f(x)= a( —h)2+k?
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Topic 4: Introduction to Polynomial Functions

Directions: Simplify the followmg by performmg the indicated math operation.

) (2x=3)(x+5) 2) (2x2+5x 3) + (3x% =2x +5) 3) (5x° +3x% - 3x)— (4x —6x)
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Directions: Identlfy the leading coefficient, degree and constant.
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Topic 5: Analyzing Polynomial Functions

Directions: For each of the following, answer the following
a) Positive or Negative Leading Coefficient
b) Degree
¢) End Behavior
d) Local and/or Global Maximums or Minimums (on graphs only)
e) Constant
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Topic 6: Polynomial Equations

Directions: Solve the following equations.

1) (x+ 10)(x=7) =0 2) x(x+Nx+6)(x+1)=0 3) x(7x +3)(5x~2)=0
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Togic 9 Review

1. Factor n2 =~ 161 - 80

2.Factor 42+ 16n-9 2 “ f’f?’@\ A
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3. S:mphfy and state the asymptotes of 24 m+TIn+12
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5. What are the asymptotes Of&ﬁ%
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